Name: Date:

Teacher: Class:

Addition and Subtraction 408

Why is the sky so high? So birds don't bump their heads!

Calculate.

L. 513 =2 833 3 475 4 248 > 721
+ 923 + 442 + 138 + 581 + 539

6. 186 7 113 & 811 9 440 10 269
— 104 — 111 — 344 — 380 — 232

11. gg9g8 12 933 13 529 14 917 15 206
+ 430 + 565 + 215 + 373 + 946

6. 286 17. 161 18 414 19 365 20. 763
~ 239 —149 -251  —254  — 173

21. 382 22 132 23 344 24 686 25 590
+ 177+ 927 4+ 292  + 404  + 692

26. 625 27. 238 28 798 20 879 30 760
— 539 — 217 — 308 — 488 — 423

© Facilitators Ferriswheel WS#:A&S408 Score:



Answer Key Date:

Teacher: Class:

Addition and Subtraction 408

Why is the sky so high? So birds don't bump their heads!

—_— |
Calculate.

1. 513 2 833 3 475 4 248 > 721
+ 923 + 442 + 138 + 581 + 539
1,436 1,275 613 829 1,260

6. 186 7 113 8 811 9 440 10 269
— 104 - 111 — 344 — 380 — 232

82 2 467 60 37

11. 898 12. 033 13. 529 14. 017 15. 206
+ 430 + 565 + 215 + 373 + 946
1,328 1,498 744 1,290 1,152

16. 286 17 161 18 414 19 365 20. 763
— 239 — 149 — 251 — 254 — 173

47 12 163 111 590

2. 382 22 132 8. 344 24 686 25 590

+ 177 + 927 + 292 + 404 + 692
559 1,059 636 1,090 1,282

26. 625 27 238 28 798 20 879 30. 760

— 539 — 217 — 308 — 488 — 423
86 21 490 391 337

© Facilitators Ferriswheel

WS#:A&S408

Score:



